= B H

{YEFY D ITWTA

(4% 3 % 04) 237

<1 2=-3DIFVWITAD LHnrkz> OFvLEBTYILLI,)

|2 — 3 |2 — 3 I2—3=D

10 2 102
7
0 I12% O 105 3% ©7¢r 27T 9,
IOk 2IC oWwWT 7,

b‘/jvi—d—o

TWwWXTAx LFLESY, OFVLEAEZFYFZFLL.)

O 12 -3 D Q@ Il — 4
@||—3=D @ |2 — 4

D
D

@ R % %T@@@O%%@Dh@



L 4

§

i @W@@@gggg . @ = B =]
/Iis CYERY D FOTA 4 23

(4 % 3 %2 0v<)

<1 2=3DIFTVWITAD Lhrrz> OFwLRIRTIELLI, )

12 — 3 |2 — 3 | 2 — 3=
/" \ /" \ /" \ @

10) (2 M 2 10
7
@

QO I12% 1095 3% ©® 7« 27T 49,
IOk 21 OWNT 7,
T E T,

- FTWTAT LFLEY)., OFVwLIREZFYVELEI, )

® 12 —-3= €) -
12-3=e] @ -
QA2
G

@ L -2-(] @y
55

@ WB Ex i @“@?5@3%@/@@

=
=



	スライド 7
	スライド 8

